



Name: _____

Date: _____ Score: _____

$$\left(\frac{2}{5} - \left(\frac{1}{2}\right)^2\right) \times \frac{1}{6} - \left(\frac{1}{5} + \frac{3}{5}\right)^2 =$$

$$\left(\left(\frac{3}{4}\right)^2 + \frac{1}{2}\right) \times \frac{1}{2} + \left(\frac{3}{4} - \frac{3}{5}\right)^2 =$$

$$\left(4 - \frac{3}{5}\right)^2 - \frac{1}{4} - \frac{1}{2} + 3^2 =$$

$$\left(\frac{1}{2} + \frac{3}{4}\right)^2 - \frac{3}{2}\left(\frac{1}{2} + \frac{1}{6}\right) =$$

$$\left(2 + \frac{3}{2}\right)^2 + \frac{3}{5} \times 3^2 + \frac{1}{2} =$$

$$\left(5 - \frac{3}{2}\right)^2 - \frac{1}{2} - 4^2 - \frac{2}{5} =$$

$$\left(\frac{1}{3} + \frac{1}{4}\right)^2 - \frac{3}{2}\left(\frac{1}{3} - \frac{2}{3}\right) =$$

$$\left(\frac{1}{2} + \frac{1}{2}\right)^2 + \frac{1}{4}\left(\frac{1}{5} + \frac{1}{2}\right) =$$

$$\left(\frac{1}{2} - \left(\frac{3}{4}\right)^2\right) \times \frac{1}{3} + \left(\frac{1}{5} + \frac{3}{4}\right)^2 =$$

$$\left(3 - \frac{1}{4}\right)^2 + \frac{1}{4} \times 5^2 + \frac{1}{3} =$$



Name: _____

Date: _____ Score: _____

$$\left(\frac{2}{5} - \left(\frac{1}{2}\right)^2\right) \times \frac{1}{6} - \left(\frac{1}{5} + \frac{3}{5}\right)^2 = \left(-\frac{123}{200}\right)$$

$$\left(\left(\frac{3}{4}\right)^2 + \frac{1}{2}\right) \times \frac{1}{2} + \left(\frac{3}{4} - \frac{3}{5}\right)^2 = \frac{443}{800}$$

$$\left(4 - \frac{3}{5}\right)^2 - \frac{1}{4} - \frac{1}{2} + 3^2 = \frac{1981}{100} = 19\frac{81}{100}$$

$$\left(\frac{1}{2} + \frac{3}{4}\right)^2 - \frac{3}{2}\left(\frac{1}{2} + \frac{1}{6}\right) = \frac{9}{16}$$

$$\left(2 + \frac{3}{2}\right)^2 + \frac{3}{5} \times 3^2 + \frac{1}{2} = \frac{363}{20} = 18\frac{3}{20}$$

$$\left(5 - \frac{3}{2}\right)^2 - \frac{1}{2} - 4^2 - \frac{2}{5} = \left(-\frac{93}{20}\right) = \left(-4\frac{13}{20}\right)$$

$$\left(\frac{1}{3} + \frac{1}{4}\right)^2 - \frac{3}{2}\left(\frac{1}{3} - \frac{2}{3}\right) = \frac{121}{144}$$

$$\left(\frac{1}{2} + \frac{1}{2}\right)^2 + \frac{1}{4}\left(\frac{1}{5} + \frac{1}{2}\right) = \frac{47}{40} = 1\frac{7}{40}$$

$$\left(\frac{1}{2} - \left(\frac{3}{4}\right)^2\right) \times \frac{1}{3} + \left(\frac{1}{5} + \frac{3}{4}\right)^2 = \frac{529}{600}$$

$$\left(3 - \frac{1}{4}\right)^2 + \frac{1}{4} \times 5^2 + \frac{1}{3} = \frac{679}{48} = 14\frac{7}{48}$$